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A0 110,104AN (-21)
5 53,176 A (-9)
Z 56,928 A (-12)
R 41,1935 (+48)
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JR\E=H] 449 -8 200 -6 249 -2 197 -1
ELH] 239 -3 105 -1 134 -2 91 -2
E=H] 165 0 74 -3 91 3 71 1
KEH] 50 0 13 0 37 0 28 0
N 9 0 2 0 7 0 4 0
faEHT 93 0 38 0 55 0 23 0
SR ] 63 0 12 0 51 0 14 0
FEE L ] 532 1 252 1 280 0 293 1
FEH] 35 1 19 1 16 0 17 1
1EH] 226 -2 97 -1 129 -1 85 -2
== 84 -4 38 -1 46 -3 36 0
pisdiil] 235 3 108 1 127 2 109 0
ZAH] 130 -2 56 -1 74 -1 64 -1
B SH] 523 -6 273 -5 250 -1 251 -2
#rH] 75 -6 40 -3 35 -3 36 -1
1GASH] 22 0 12 0 10 0 8 0
FASRH] 143 -5 65 -3 78 -2 82 -3
—&T 0 0 0 0 0 0 0 0
NET 97 -3 46 -2 51 -1 46 -2
T&ET 151 1 73 1 78 0 55 0
NET 79 -4 35 -3 44 -1 35 -1
NET 265 0 110 0 155 0 95 -1
T&ET 248 3 112 2 136 1 122 1
i qealiil] 378 -3 167 -1 211 -2 195 -2
EH] 2,635 -1 1,265 o 1,370 -1 1,015 -3
RFRE] 3,486 18| 1,620 3| 1,866 15| 1,314 6
EEH] 1,424 2 680 2 744 0 455 1
FRi2H] 1,846 12 922 8 924 4 723 2
#TERH] 546 0 247 -1 299 1 228 0
FHASTHT 3,494 -14( 1,781 -4 1,713 -10] 1,493 -3




1iB]4:i1] 2,201 1 1,093 -2| 1,108 3 831 1
VEIERH] 1,875 5 947 3 928 2 480 5
JIFaHETE 4,854 6| 2,364 -1 2,490 71 1,722 10
J1IFa ] 2,060 o 1,017 1| 1,043 -1 754 2
EBZRH] 9,205 -24( 4,476 14 4,729 -10f 3,288 -7
=5H] 3,470 -16[ 1,690 10 1,780 -6 1,258 -3
JER EHET 875 5 433 5 442 0 342 2
EREFH]ER — 2,416 -9 1,167 -5 1,249 -4 780 -1
EREFHTER 73 1,772 -15 858 -6 914 -9 596 -4
EREFHET P8 73 516 -4 262 -2 254 -2 184 -1
F 7K H] 5,634 11| 2,683 10 2,951 1 1,803 7
REANMET 93 1 85 1 8 0 82 1
S 3RH] 52 0 28 0 24 0 32 0
E1TRE—TH 428 0 225 0 203 0 188 -1
E1TRE”TH 323 -9 142 -5 181 -4 145 -2
E1TRE=TH 0 0 0 0 0 0 0 0
ETREUTH 0 0 0 0 0 0 0 0
ETREATH 241 1 111 0 130 1 74 0
rE5 0 0 0 0 0 0 0 0
TEE—TH 448 3 199 1 249 2 196 2
TEEI"TH 762 101 355 53 407 48 345 32
TEE=TH 334 -1 162 0 172 -1 152 0
R —TH 525 -4 236 0 289 -4 234 0
e = 754 -8 377 -4 377 -4 335 -4
IRERET=TH 483 -18 247 10 236 -8 227 -5
EMAFRET—T B 345 0 153 0 192 0 152 -1
EMAFRET — T B 590 -1 276 2 314 -3 258 -1
LB —TH 189 -2 79 -2 110 0 86 1
LA =T H 455 -6 212 -3 243 -3 194 -4
PR —TH 347 -2 181 -1 166 -1 151 0
AR —TH 477 -3 237 0 240 -3 231 1
FZH—TH 133 1 58 -1 75 2 55 0
=HZ—TH 342 -3 143 -1 199 -2 147 -2
[ E it 349 -4 165 -2 184 -2 206 -1
FEE—T B 148 0 73 -1 75 1 68 0
IFEE] — T B 322 2 133 -1 189 3 125 1
HFRE—TH 477 0 215 0 262 0 180 1
TR =T B 321 -8 143 -4 178 -4 134 -2
TR =T 8 452 0 210 -1 242 1 206 3
FRAFETE T B 375 0 172 1 203 -1 155 0
FRETARTH 613 0 267 -1 346 1 229 2
¥rRE—TH 240 2 116 1 124 1 110 2
FUEEIZTH 385 1 213 0 172 1 191 1




AIEEE—TH 502 4 228 5 274 -1 230 5
AEEAI " TH 327 3 149 1 178 2 128 1
1EEE—TH 186 1 91 1 95 0 82 0
BEEI " TH 683 -1 310 -1 373 0 290 1
BEEI=TH 571 2 272 0 299 2 226 0
1IEEEUT H 261 0 121 0 140 0 107 0
IEREHTH 734 -4 332 -1 402 -3 333 -2
Kim#]—TH 299 1 144 -1 155 2 114 0
Kim] —TH 208 0 104 0 104 0 83 0
AFH—TH 141 -5 61 -2 80 -3 68 -2
ARFHZTH 9 0 4 0 5 0 5 0
RFH=TH 171 -2 75 -1 96 -1 95 -2
TaE]FE—TH 565 0 274 0 291 0 199 0
TasEIFE T H 277 -1 134 -1 143 0 104 0
TasEIFE=TH 118 -1 62 -1 56 0 54 -1
TasETFEIU T H 442 2 207 1 235 1 166 2
TEsETFEARTH 712 4 343 2 369 2 266 0
TasETPE N T H 418 9 195 3 223 6 170 3
TEEFEETH 482 -2 230 0 252 -2 218 -2
TaE]FE\T B 659 -2 329 0 330 -2 269 -1
THREER—TH 1,364 -2 655 -2 709 0 568 -1
THREERTTH 353 -1 170 -1 183 0 136 0
THREER=TH 745 2 371 1 374 1 306 3
TARETRMNTH 1,142 9 559 0 583 9 444 2
THRERATH 1,223 3 738 1 485 2 669 2
TESHEIERANT H 667 -8 352 -2 315 -6 335 -5
TEERETH 1,452 -15 700 -5 752 -10 562 -6
TESETERA\TH 1,402 -6 675 -4 727 -2 605 -2
TEERATH 559 -1 284 -1 275 0 113 -1
TasETIE—TH 70 0 42 0 28 0 53 0
TERETIE=TH 36 -1 24 0 12 -1 32 0
I\ &t 80,381 -29| 38,900 -23| 41,481 -6| 31,141 18
N v 160 -1 63 0 97 -1 85 -1
AEHTA 138 1 66 0 72 1 68 0
AEHTRA 14 0 4 0 10 0 10 0
A EH]/)\BR 139 -1 61 -1 78 0 65 0
A EHTAH 16 0 6 0 10 0 11 0
AEH{EH 87 2 33 0 54 2 42 1
AEH IR 15 0 8 0 7 0 7 0
AEHTAE R 9 0 2 0 7 0 6 0
45 18 0 8 0 10 0 11 0
AEHXEET 596 1 251 -1 345 2 305 0
IN=RvES) 39 0 18 0 21 0 26 0




IN=T: PN 51 0 23 0 28 0 33 0
IN=TIESOY 46 0 20 0 26 0 27 0
[~ SETER R 48 1 23 1 25 0 30 1
INZT =7 N 77 -2 35 -1 42 -1 45 1
IN=TiI s 35 0 15 0 20 0 18 0
IN=TG 44 0 25 0 19 0 21 0
N1 IS 46 -3 26 -1 20 -2 21 -1
FEH] 53 -1 25 -1 28 0 37 -1
=Bt X &St 439 -5 210 -2 229 -3 258 0
BIHEEpE5T 1,035 -4 461 -3 574 -1 563 0
R SRETRE 1,437 4 672 2 765 2 492 3
TEIRETRIEE T 790 -1 340 -1 450 0 239 -1
fEE SR ] [ FHER 1,291 1 616 0 675 1 420 0
HEIRETRE TR 1,135 1 546 1 589 0 363 0
% %ﬂﬂ% 1,467 -3 693 -1 774 -2 437 -1
HE R 1,141 -1 547 3 594 -4 398 3
%ﬂxmgﬁé 4,013 3] 1,931 6| 2,082 -3 1,275 2
TR X EEE T 11,274 4 5,345 10[ 5,929 -6| 3,624 6
ERILIET EAEEF 1,963 8 926 7| 1,037 1 589 5
ERILIE] T AEF 2,602 -10| 1,275 -5 1,327 -5 833 -2
ERLLIETER/M I 2,144 -5 1,073 -1l 1,071 -4 768 4
ERLLIETFEIR T 1,492 3 728 -1 764 4 492 4
TS 1,029 -1 490 0 539 -1 352 2
ARLLET) R 2,288 12 1,124 6| 1,164 6 759 3
ERLLIETERIR T 5,896 1| 2,854 1| 3,042 ol 2,072 8
ALt X S5 T 17,414 8 8,470 7| 8,944 1| 5,865 24
&a = 110,104 -21| 53,176 -9 56,928 -12| 41,193 48




